

Technical English Level 4
Progress Test 1 Answer Key

Section 1 – Vocabulary
1
1 a / 2 c / 3 b / 4 d / 5 d / 6 a / 7 b / 8 a / 9 c. 10 d / 11 a / 12 c / 13 b / 14 a / 15 b

Section 2 – Language
2
16 was working / 17 was singing / 18 used / 19 did / 20 able / 21 which/that / 22 have been using/have used / 23 was walking / 24 saw / 25 was created
3
26 is capable of producing / 27 The product was first developed / 28 have the capacity to move 29 has been working here since/has worked here since / 30 is used to generate

SECTION 3 READING 
4
31 D / 32 A / 33 E / 34 B / 35 C
5
36 c / 37 b / 38 b / 39 c / 40 a

Section 4 – Writing
6 Sample answers:
41/42 The SpaceRunner is an enclosed treadmill, which supports a person’s body weight.
43/44 It is capable of reducing the user’s weight by up to 80%
45/46 The machine is also able to provide unrestricted motion of the legs and upper body and runs at a variable speed of up to 16kph.
47/48 There is a touch button screen which controls the support for the body and changes the settings.
49/50 It has the ability to function in an ambient temperature of 10-29ºC and a humidity of between 20-95%.

Section 5 – Listening
7
51 Drilling Operations / 52 reservoir / 53 hundreds / 54 oil platforms / 55 environment / 56 (the) Netherlands / 57 milk shake / 58 (bendy) straw / 59 horizontally / 60 flexible
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